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AT : RS /ROy o/ Atk oISt | /Uok+0/ |

3) Noun of the word 'free' is -

1) freeness
2) greely
v 3) freedom
4) freedomness

AT : » Free - adjective - T , T , TBH ;, T, CTRIGID! ; WTHOT ; AAATIHOT | - I
noun form 2% - TEIq0T ; §iF | AN, « Freely (adverb) - FHAGIE, AT, SAH
30N | » Freeness and Fredomness 30 =1 9137 I1¥ 7|

4) logy(1/32) < d1d 97

v1)-5



2) 1/25
3) 1/5
4) -1/5

TN : Log,(1/32)
=L0g(1/2°)
=log,2~
=-5l0g,2=-5

5) It is high time we our eating habits.

v 1) changed

2) should change
3) have changing
4) change

AT : » |t is time \3 It is high time 1 #it& 1d verb a1 At subject WK @ verb g
past form X | - 2C3 SERG I It is high time 391K @Al verb a1 4, subject
AT | - O fRETGER ¥ B8 21 - changed. - ST - It is high time we
changed our eating habits. ¢ WRK, I It is time 3 It is high time 93 &
subject a1 U, @Td verb W @ verb W1 bare infinitive form (to + verb) 2J1 -
@d4 : It is high time to change our eating habits.

6) Which one is the correct passive form of the sentence 'Panic seized me'?

1) | was seized by panic
2) | was seized for panic
3) | was seized from Panic

v 4) | was seized with panic

14T : - The correct passive form is -1 was seized with panic. - 24 297G 0
past indefinite tense Q@ W | « Past indefinite TF IPKP passive IR o - -
Active Y9 object 9UH - Tense TGURAN auxiliary verb - T verb A3 past participle
form +by - Active 43 subject + extension. - 53 active voice 4 cover, crowd,
seize, fill, know 397 verb ST YR, Passive voice U7 verb W past participle
A3 R/ by 1T #R[CS with 3071 571 515 B3, | was seized with panic.
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I : 9P B = (b0 - 88) T = VY Td bro Td BN FKT APT I = VY T > T ZIAF Y
HPT BE = VY/bro Td Y00 T FIAR FK AT I = (VY x H00)/r0 Td = 8¢ T
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AT ; - FPE T SAFG EFATHIZD AT @Y (@A AP IGP S BT B T7 ST
A BT T PICET 2R Gy 7141 | - FAfeRme 513 (s AT are<e ITRIfae B 00 AT 1
YR B2} AoR [RSK I |

9) Find out the correct synonym of '‘hazard'.

1) Impartial
2) Static

3) Immobile
v 4) Danger

AN : » Hazard - 35 ; Rom)| « 207 S@ERo WorTd SR 5 - F) Impartial - AR5 |
TFATORIT ; STl | ) Static - O ; 71 ; WRG/F TREN 51) Immobile - e ; 5o
FI°RA , 3191 9) Danger - oM , 35, TPTFT , XIF1| » FOATR, @RI IO (T 20T SERG
ORI TR YT - Danger b Hazard A9 ST O o3P I | - OF3 9P $6 T -
Danger.
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VPRI 720E ATPREP TS AT (¥ | - AR5 et (AP TR [T 2T aRico 3, IO,
5T, JICRIGER JCOT P19 TIOR TToar 253 a1 &8 =0T | - J10edT @ fd 79[ 93”
et foa (20w Wi | fo8 2ror Ko ST ff 367 20 A | - T8 2ror R <3 Fa
(B 3R TOH SRPIFT AR OREI (d AL fOH 5258 PR | - 552310 Rasiel pioiEr
T dTR O e (216 FHI PAR @ T 3R P19 (AT B 2T FT |
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AT ; - 'STSRT G TGN (FTNTBAIRISNE) TR ST | - "SIDAY FET0 TAHANZ TR
ST | - "SI\STRAT FETG IR LT 5T | - FTO SFR ST SRR A A ST O T | - 'S
ST FeTO FAFARIRE \3 TIPT QR 5T | Afb FoT6 73 10 JY ST ARSq1fs 1T | - 'IoT Jeto
TIFANRZ TR ST | - 'BOPT IR WKCE 5T |

14) Select the correct Bangla translation of 'There is no room in the bench'.

1) « FH @I @ (73
2) 9 [ I T5F (3
v 3) 9 @& I QST (R
4) RIS (IICAT (@ (B

YT 2 o TIPT B, ASRAT, SFATST, TIPPT (ﬁcxrsr SO TRICEK T (€ (@Il SISt CF13)
WA room IRTO [ | - T3 'There is no room in the bench'. Lﬂaﬂ%@aﬂwzﬁ- q
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2)va.a3 .
3) du.ue .
4)vq.a¢ A,

AT+ SO SO AB = ?
AABC «

tan60° = AB/BC

V3 = AB/10

AB = 10vV3

AB = 17.32

16) cosec (90° - B) = 2 X1, cosO = P97

1)2

2) V3/2
v 3)1/2

4) 1V2

I : cosec (90° -06) =2

sech =2
1/cosB =2
cos = 1/2
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Ao G O 2ATH 1 SO AR ST (A3 WM ARPO GIFH 578 | Ao 527 REoR
T Q3 BT (A3 GO ATPG IR AP BT T (ST ATPG (AT (SO TGO
AR | T, TR RGO (STG ALGRXT 20 INPTIAN GRR T weo BT 1T Ol
TOTR AR I |
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20) 'Take one to tasks' means -
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imitate
rebuke
resume
restrain
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AP AT ARG TP foreTd IS ToFet 357eTd, afb Yw3¢ TS 2FG | - i JagsT
AT FTS TOF IFAT PHIC FOTOPI AT A7 Y AIASI FNHA IR | TA AT, -
IR DT 5icTo SRS 2Ud FUo@ SIS’ AifadT oFY QIR TAMAR AT APIRIG
2 YO8 FIE | - 3G (SaY) ATITPR TN - CIRTIR ARGHI - ‘GIRO1 AT AP
2 Sb-aa AR, INE-OoT TASHAY SRR TR |

23) TRET ST T 7

1) AT ST

2) IFE6H BT
v 3) 535E Rrsis|

4) R 5!

T : JIRET ST TP SpIA6E TS | - A ST SIS DR AT PERCZA I H
RATsTIs1K | - Q7 TsT 7 f2e 23R | - 5T e 5107 Syefero <i{ans, omiRiersT, 8
TFROHFRCT 53145 \3 5 SNITG B @I | - AT SO WSAZD KPR \3 SR i3
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- AT NP HIZD] ST \3 TSR APPTHF PR I3 RATHISR 1T 51 AP | -
AAGATY TP RATSTIHRCP AT S "2 PRIy qeet aftof3s e |

24) She could not but there.

1) help going

2) goes

3) has gone
v 4) go

W1 : » Cannot help / Cannot but = d1¥& a1 97|11 - Can't but Y99 verb U< base
form I71 - Can't help U35/ verb + ing | - ARY 297G 2C could not but ICIZ, T3
WS{%@@W@. { - go. - Complete sentence: She could not but go there
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(x2/3%) + (y?/4%) =1
(x2/3%) + (y?/3%2) =1

A : (x2/32) + (y2/42) = 1 [T 930 B2ROSK STAPLT]
AYMda =3 Rb =4
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35) Choose the correct sentence :

v 1) One of the most beautiful girls has come.
2) One of the most beautiful girl has come.
3) One of the most beautiful girls have come.

4) One of the beautiful girl are come.

T 1 » GPIAT AT one of the UK PR 5134 A - - One of the + Noun (plural) +
Verb (singular) + Possessive (singular). - One of the 7K1 e JCAP] TY
UITAE QAR | - B3 AFYCS one of the U3°[ plural noun girls XTI Y31 singular
form f33% verb X3 has. 5od1e 53 I35 - One of the most beautiful girls has
come
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qAT:x +y =7

xy =10

(X -y)2 = (x +y)? - 4xy
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50) The verb of 'sure' is

1
2
v 3
4

JTT : » Sure - adjective - AP ; FAFPO , [AexIR , [AHR ; FOIPHT ;, FOPHT| - WK
verb form X% - [Af5® 311 SO, surely - adverb - faFvoerE | faafe | T3,
surety - noun - QEAY ; dI15 IRG ; ?ﬂ'\_o\;g

surely
surety
ensure
none of these
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CermiEivEs ek effulenic R R GIsiGE R ClIelcRITTSIRIGIE SEAVIRINEGE R CIMREE
fACtAd Qe 7 ¥AIAT Aedes aegypti T Q5 SRR 12 | (IAT (@Il TS AT
oS Aedes albopictus, A. polynesiensis TM3 SRETT TGN | @SN T 53 TSR
AR T STREFFTFE T \30F L (STT5T SR TREP AP T | ISR P S, (BIHIGR (BT-
TIRAIGR SREFT B551RET (WP A1 IFCE] BT O M, QHARD OO TN TCB |
ST 52 (GG, TP ATR IR (B3] I W, (G116 57T S 4Ra- G TN 291Q TR G
TTONS AP IR S AT, HFFCSTEAP AT, IS0, I L ST PHPIG | T3 (BT 23
UL TGP FROIAT T Ol | 5 75T ¢-a i B 27 72 @I ARG g 118 wiged
PO AR I A9 R\ |

56) SO e st I Moo 277?

AT : - 5a3 TG TIOR8 I | - Yna JICT TITEAT TNSTTANST SR H93 FIE PR T
O A2 SAMAP SO i3 st (1ean B | - 3 (A HAB 716 Tror 71 sy 2w
AT T WHNZ | - TR 003-200b S 173 I #f1feTo 20fq|

57) 31 30/ TR XTOPHT 0 b1 XA (A (1 FALA br T2 SA-DIK FoaSd 21?2

AT = ATHA Yoo TP T b I A XA Foasd oo BT |
BIXH, 5] = V00 - Y00 = 300 BT

500 TTPK b I2EA 5| 00 DT |

500 BTPR > IEHL 3] 100+b = ¢ LI |

O - €%



58) oS TP 510 2 P2

v 1) do «fgre ypad
2) 5> afPfe y»d
3) 5q aferT Y»ad
4) S aferF d»ad

T 1 > R So e TER o[RS SKPR 1 FRORATK SKIRK 51100 2 |

(R7[ (SETR (ITAYGET (IO FFERAsRK) 5 Afre I3 TP XV 52T I |

93 SHPIER A 2retd IBRY T4 ORI 724, TR 710 3 SoR1EIfs fared orm
TORFE BT 1R ALTTHE! BT SISO WIT=e |

W \3 TSy 771 2T Q8 FAs) QAT | -0, A1, 215 \3 PR 731 fozeetad @ I35 «F
JIIFTHTA QIR 2RATE \3 S5 RIS 73 o AP PO SR |

(53¢ TR 36T \3 RPIsTerar - aa-oTd I 3R A1Remf1ieam)

59) (@Td X7 YT STHIAP Fq?

AT+ */ S faferey facds */ @6, RESM w3 ©fTa), I <= I5ie1 FFAF a7 | AP B6
AP 2PITD B0 (T T | B! = "TRW/IT XTI FALP <1 | RO = 'TH/5TR XTI FANLF
X | QIR IFAT TR 0 = TEHT, [, CPRIRT | ol = 'JR1l' X[ FAILE X | 'SP X
ST X SCAT 202 T, 3, 16, 23975, 37, @, 7237 3971 | “ff Q) ¥= efomt
Xoz- 5T, <3, <11, , TR, @mal, 72, ©d, AR, S, Io55@a1, €@, Ispmo!, ke, St
FONR | AR XD AL X KT A0 - GO, IR, Bioar, safa, fGafRar, sk | 7fam

60) "<FfD @B AI\3’ T Q7 RENG-

vl
2
3
4

Pen through the word
Cut the word

Cut through the word
Cut out the word

~— N N N

JMT : » Sentence I word o C\3TR GFE appropriate group verb X Pen
through. - (Td > 1 P @O 1 QRIS Pen through IR2R 2| - SFOA1R, <THID (@
M3’ W9 &% 3&@M - Pen through the word.



61) 72310 I AT B2 @19 60° | QP FKREAPIT O B (@1 AT I I @19 BT AI?

1)
2)
v 3)
4) oRE 1T

A1
STRCPI
§ CT

AT : SRECTT = 180° 730 IFT TR BT 1T 60° BT @I = 180° - 60° = 120° 90°
(AT TG W3R 180° (WF (b @INF TPV I | 120° QI FAPIT

YT ; - GATAITR BTY FAE AfRPTABTR I | APToP ARG (WP G [ GBI Sogmsh
AT TR IR WP \3 WGP “rafocs AT 13 2T @IS 519 | G7d 51N Kigwe
R 30 GIRPTEBTR , CREIER 21ed [P [ - Qforpretp , 5257 619 fags [ -
frfreree™ ; 5% p1e g [T - AaeTet™ | GaeR 61 - foReTeb TR, IR BTY -
IR, SR - BB, “TATeTd KMy - AfSPTIenR, STeET F8 ATeamT -
ARPTER |

63) Syntax is concerned with-

1) word

2) letter

3) passage
v 4) sentence

TN : » REAK SRR 'syntax’ IR 5104 AT TEADA B | - 'Syntax' < A
JPIO9g | - Syntax denotes rules for building sentences. - 33941R Syntax is
concerned with - sentence

64) 2050 ST UNESCO 'R IR OITPR IR @1 FE THGe P11 TACZ?

AT
ST
FA AT
P a T

]
v 2
3
4

~— ~— ~— ~—



AT 2 ILEACCR 512 RS ST WAt Hozrsio S RRBAR 38T 2050 S
WA Mg 5P MY 5561 5@ T3 Intergovernmental Committee’s QRY WK
IR5a13 Sremifd a9 P Intangible Cultural Heritage of Humanity 2057 oG
UG f— SRICT AT 5112 6P Moy R FPRs = - Aroet «nifh tol Py

- JTAICCT RSCACH T (TG AT 1% TP HROZSET 2T - - IS 511
(R00b) - SIEATT Jad P8 (2050) - 2T (PR T CTSRIMT (205v) - et N1fb (ol K
(R059)1

65) IRATCC RfTP RPIRMTTeTRTsIgad 7 2 Ud T SR 2w facst crawr zace-

T : - IR YA AR SATST AT TEITHND PRGN 35777 | - fofd 2058 5
SIRFIRAsH RPIRATEER SobT et fage | - fofd ereiiRasRieaeaeiar 4-Rsa
s T foed|

66) The dog was in front of the door.

1
v 2
3
4

) lain

) lying

) lied

) laid

AT : » 2PY 2G ARAYIL past continuous tense O WIZ | - past continuous tense A3
5199 - - Subject + was/were + present participle (verb+ing) + object. - 37od1R
fAraTga 51iée Bwd T - lying. - Complete sentence: The dog was lying in front
of the door.

67) Which one is the correct passive form of the sentence 'l know you'?

1) Your are known by me

v 2) You are known to me
3) Your are unknown by me
4) You are known with me

MW : » Present indefinite tense A3 Active voice (A Passive voice 3K fags . -

Object 6 subjective form - am/is/are - ¥ verb < past participle - by/to/with/
in etc - subject U< objective form. - @K known {3 27 IS to ICT by/in/with |
SO, TaTagardl - Active voice: | know you Passive Voice: You are known to me



68) fofa 7T 20% I (517, 7T T IR 20% I 1T | T BT IR I XTOPAT TS IR
1 FECAI?

T 1 20% P TSR 51 IGHIE FeTy = (500 - 30) TIRT = bro BT
20% I “M3AS IHANA b IRTO 2 = (Y00 + 0)TRPT = YOG

00 TP A fbfd 7920 20 Y0 TR
S “ O y30/500 ¢

bo “““““y0*o/Hoo
= »Y TN

B fd I IR <TOPAT FACEAT = Y00 - DY BIIT
= 8 0TI

GG : 8% PECE|

14

69) ANGG G POIL WX ACP?

1

N

) bR
) TS
v 3)=
4) 5719
AT+ ARESTO “Hea ZAT WA | G Xoz- 5. B3 3o Tty <=1 2. 37 worww v
I FT \3 IR | 0, 5131 39" WK A1 TAep 219 STweT SKTdd <1 ST | 8. B1da

I [T A1 2135TG | 7510 - AT-SIT 1 ST, ST}, [ G @gsio | ¢. facmd 3
74| v, 515 Rimars

70) Rana's father wants him to be an engineer a doctor.

1
v 2
3
4

instead

instead of
expecting
expect to

~— N N N

Az » instead of (prepositional phrase) ("I noun, pronoun, gerund {1
prepositional phrase YPX) ¥ , IS ; RIS | - WA @IAT 27 [Py Rt oy g
IR FAE instead of 3 phrase T IR0 | - ©R AR 5P B8 A< instead of.



71) x/y=2/3 T (6X+Y)/(3X+2Y)=?

AT 2 X/y= 2/3
:. X=2 y=3 SEIBRT M3,
(6x+Y)/(3x+2y)= (12+3)/ (6+6)=15/12 =5/4

72) 16 - 4x2 Q3R 6X2 + 24X + 24 a7 51. 1. B, IO?

1) x+2

2) x+4

3) (x+2)?
v 4) 2(x+2)

AT : ST AT = 16 - 4%2
= 4(4 - x?)

= 4(22 - x?)

= 4(2 + x)(2 - x)

WA = 6x2 + 24x + 24
= 6(x% + 4x + 4)

= 6(x% + 2.x.2 + 22)

= 6(x + 2)?

=6(Xx + 2)(X + 2)

4.6 995 A1.8. =2

AR 51 3. B, = 2(x + 2)

73) Select the correct Bangla translation of 'lt is a long story".

A : » A long story - Details description of how something happened that is
complicated to explain. - T AT ToAT 5o W [ Wfie T 31| - B3, the
correct Bangla translation of 'lIt is a long story' is - &1 AP AT



74) T5a 5ER W3 RGP e SR 51 I3 28 27 | I @Il SR I958 2D IZRA A
1 2, T O @A QISR ST AT 357

T 2 O SR TG I = 38 I=H
O S (HIG ITH = 8 x O I = 93 I2J

R STCHIK STO A = D T2

R STCST CHIG ITH = 3D x X 29 = 8 IH
PG T I = (AR - 8R) I2J = VO I

75) ST faof o d - @@ |

1) SRRITGR
v 2) A B OFY
3) B TP
4) foroy 7St

T : O PY ST : AR RORE @191 (90T U AR WY ALTARRCA (T ST 51730 2,
BICP I T TP TS | '@ B 2FY SIS A7 AP APH dde T 2RFY FAIK TGS |
A B IFT AT : ARMDD duds TR (AT, A3, 13, F) 2T I (T O IFI TS 2, OIP dde
ORRFY AT A | - T QT = WA T A = T, T B0 = T, @3 eI = T,
A3 2T = @1 UGG | ZTST PG duds DRI 1T ARG FCHA W, T, AT, 5/, &, [, 1,
1, i 3o G | (TE- A1 SRR = WA, T (ST = RS, 77 O 71 = AR 3o |

76) Every day begins at 9 O'clock and ends at 3 O' clock

1) college

2) a college
v 3) the college

4) colleges

4T : 53F B6I 5% - the college | - FRAIPIT 71T AP QBT e Feeitod TRIFH
OF UL CTF 2P T 0z | - WK fafe I @RS article W9 ACTTsT FACO 2|



AqE:

{(@)V33

= (23)W/3/3)
aqRaT: 3)1/9

asu/’g)

= alfS

78) 3.27% = 9% + 4 e, x U qIq PO?

1)9
2)3
v 3)7
4) 1
ERILICE
3 2“? _ 9Y 4
3L (3%)% = (39)x 4
nl 23X _ »2X+ 8
SURMIE 3;\0 _ i:x + 8
5] =3
3x+1=2x+8
3x-2x=8-1
Xx=7

79) Complete the sentence : When my friend arrived, | was about to -

1) be leaveing
v 2) leave

3) left

4) g

AT : » SIP TG A - leave. - 'to' II%[ verb - W3 present form I - 5790 I1<PY -
When my friend arrived, | was about to leave.

80) Rahim went to hospital as patient

1) the



2)a
3) an
v 4) no article

JMAT ; » Article a3 fagarg@rl, - School, college, market, bed, hospital, prison,
mosque, temple, church, court of 39T FJ STHET (0T AOR Ol fdfeio) IR0 2
(T4 Article I @84 : - | go to school. - He went to market. - 9P3 ©IJ - He
went to hospital for treatment purposes. ¢ 5 FASE W ST INTS X ATH
™S Article IV @4 : - | went to the hospital to visit my uncle. ¢ QRY 971G AT
subject Rahim Q¥%d patient I3 hospital 1 Sz TR F45 SoeT Sicaize oR
QT hospital U< #< article I dT1 - 3{o1R, 5P BB - no article.

81) 13 TFRATE VI FATL AFF FTAR F TP FTAR TF FoAST | PP BT OF 3 e
Rfageo 51247 Fo?

1) 39
v 2)93
3) 31
4) 13

YT : FAPIR TP BIA TF = X 3P FlA OF = 3 UMD =10 x X + 3x = 10x + 3x =
13X O TCE, PP BT OF = 3 5D =13 x 3 = 39 Ridewrew 512mfD = 93

82) Which one is a compound noun?

1
2
3
v 4

Comprehension
Holiday
Entertainment
Hair-brush

N— N N N

JMAT : » Hair-brush is a compound noun. - T hair (§¥7) 432 brush (I™1) 4 70 noun
GeRIENIEE Compound Nouns: - A compound noun is a noun that is made
with two or more words. - AR(e 73 I1 ol <% A @ noun 5o 2 GIeXee
compound noun IR | - A compound noun is usually [noun + noun] or
[adjective + noun], but there are other combinations. Each compound noun
acts as a single unit and can be modified by adjectives and other nouns.
There are three forms for compound nouns: 1. open or spaced - space
between words (tennis shoe) 2. hyphenated - hyphen between words (six-
pack) 3. closed or solid - no space or hyphen between words (bedroom)



83) "R’ XK WY -

v

—

a\’)ﬂ

)
)
)‘ﬁ?f
) #ToTe

W N

4

AT 2 IR X QY - AR AP (ROT) - TGS XA - APho A0 = Fd+E1 7Y
TSR WRPT X FAILP X7 . Y, WD, @I, O3, WS, AP, X[, AOTAST 3051 |

84) ‘TIeT TRy W

AN = TIPT Y ATSURTINR O = A s a1 | R B9/ a1 Oy Aece AP 1TR-1 Borpo
AT

85) (T FPUGH SRUIP O, ¢, » TR S5 A SIS R TJ?

T2 9, ¢, » AIAALB 8¢
AR 8¢ I HCY 3 Q15T PIAET O, €, » AT G5 PAE ARGCHG 3 TR YA |
o1 A - - 89

86) | don't hanker wealth.

1
2
3

v a

for

)
) o
) over

) after

A : » Hanker after/ for something English Meaning: to have a strong wish
for something, especially if you cannot or should not have it: Bangla
Meaning: RIANPZA Ty o538 AT 23T/ Il [ (97%cd (@011 » I BT, “RIST <1
O TTOR (I BRI (R (5T QIR OIS hanker W3 91 after 35| « g M



(P! P Tl TP 1 301 2FPT IR O hanker 9 ) for | Examples: - What
did you hanker after most when you were in prison? - Even after all these
years, | still hanker for a motorbike.

87) We eat we may live.

1
2
v 3
4

) for

) because

) so that

) lest

AT : o 20T SIS WP SR LT - ) for - T ; STeT ¥) because - GFPRIT ;
@ddT ; TP 57) S0 that - AT ; ICS I : T) lest - I3 TXTF - ST Q@RI I X[ FICA
so that I PR WY “fda1 A< | - Complete Sentence: we eat so that we may
live. - Bangla Meaning: TR 13 (G I AT QAT @6 ARCS MM |

88) Which one is the correct English translation of ’a¥d WERK 310 AT’ ?

1) I am empty hand now
2) | am empty pocket
v 3) I am hard up now
4) | am without money now

AT o "G AHR T0 AT’ 93 5B translation Z3 - 1 am hard up now. - be hard
up - SIRPCE 91G | - IS YT AT FETD GIPT 151 1 YIRIP @R |

89) AP JTIRY” WL

v 1) 5T
2) 73T
3) TP I7
4) O TF1

AT : QI IS ISRV WY - GO T 1 TIGTSTT | BHIRAT ; IR 1,

(2K ROeT 11, 721 G1YR admeT 375 |

90) FAO - 3 3 R (PIATT TRIEG?



AT : - FAO (Food and Agricultural Organization) >»8¢ SI(e1K YY WCFRA AN LACER
Q3R S»8Y FIER S8 BT Tfosead ROmiie 53R T e 3 | - 1t Femes 3o1fer
TSI @I TREG | - FAQ U7 IGTTT TR HItaK T BG5S | - I6H1d 5Wow AT S»8fD
O3 SN 51T T 1 =TT 51510 BN 3BT BB fRId FAO 3 SW5% | - 51104
ARTVR BT S TIRR AfGA2 Y A 75T AM1eT0 2 | - AL Y90 S S ST
FAO 1< ™o &1 I |

91) BBEAFT IO AT > CTFATRP AP0 Ao T AN TPio om?

1) Yonbr
v 2) S5

3)

4)
AT 2 D PPATRA ABSIROP PO : - A5 27 3> PPN ABSROP Froer st 2w
TG 2T | - PR ITSHIAT AR S SER A TSI ZOAF R VoG WP IFCT
TFIRE ABHGF TOGNT > N @RTR 2BR AT | - 2000 SER D @FAR (AP
AR St B T 93 fMaft T arowmT At ¥R S1eTd ©F 2| - 2009 FER YY &
SROSRT SR KA I 2BR ST T A S50 ISR ARG 3507 PR
WBSIGF ToT dst 2T TR AT SIAKdl 20 U U3 2BI- 200b e
WEGMOP TOCRT I QAR P R | - 2RI 2050 FE SoST FLHRT AREHL Leod
WP DT PR WFSRGP FTOGRT st AN AR 2B TS |

000

300G

92) Choose the correct sentence :

1) | have been lived here since five years
2) | am living here for five years

v 3) | have been living here for five years
4) | live here for five years

ATz o o[ SF A QAT 2173 bz Q9P RO present perfect continuous tense
3| Period of time 3T for I3 point of time RS since IR 2 J3L verb-T
Present perfect continuous tense = - WA have / has been + ing | @FF3 - He
has been living here for five months. - He is working for six hours. 312
fARIEITI 513F ©61 - | have been living here for five years. * For 99 JK2I< : -
Period of time W3 [ for It - Period of time X2 GR a1 TP ST SITAR AP
(72, fAfdb, T1, YR, TS, I24 20J1M) TR 5191 I | AFA- IF (NP G, 1T A0, 9T
TOU1, 9T T2, T TS, 9F I27, 73 I2K, 30T | - o (for) a long time (DA e/
F/Md1)| @54 . - We have been reading in this school for four years. - He said
nothing for a long time. - Sumi has been working here for six months.



93) (AR ST 53 T TIsT IECE. BT QA2

1) STEr%F @41
v 2) AR
3) (&F @
4) HIFRIET @A

AT : - 53 (P (AP ST 7AT AR 2R--ARSH @B I T @A FHAT I TAE, TP
AP AT | - Af A} STEARPIET 28T’ Q@ RANS JOTPR | - fAPFR AT AT TG \3 7R
ST 73 B[ ©I5T IR | - Q @UR BOR A THIHF TG (ST 7R TR T
RfRFT (ST IoT 2| - A3 @TOF T o fBfst | QT fd A6 5 71 | - TP AR SR $6d
\3 AR (ST RPICAT BICAR IRP 7 1 A1 2 |

94) Rega T Broremzres: faefor @reffar are F1?

ey
Roferer

)
)
3) T
v 4) @RI

AT : - Rew N Sroranzrs fagior @renfa zen @R | - org 207, [Kiegd T A ado sifo
faeor ot | - Riega TEEIAT W24 (1T Aowe AT oo |

1

N

95) © fd VFT ISR S/db WX T, P FASH 8 BT PTG PACO POMA FATSII?

AT 2 D/5b T PTR 2 O A > WX PR (9 x db) = ¢8 e
&P PG 8 BT PTG PIACO 5T = €8 x 8 = DY Td

96) "B’ U RO >0

1) Aqs
) Ty
3)
4) B
TN : "B’ IR RS <34- 77 / GNe S99 g Rodie <191 . 'wgres a3 [Rokio <= - e
TT0' A [RI#AG =7-RArs 'Gay <[ R0 <7 -0 Wl U3 RoRIo <70 - Sdqee

v

N



TG W3 oo =7 - (7o 'afiR «3 [okio =1 - afFe i g [ReRie =-fady "\daoy 3
oo =-Rag

97) 'Writing is better than reading' - Negative form of this sentence is -

1
v 2
3
4

Writing is not as good as reading
Reading is not as good as writing
Nothing is as good as writing

No other thing is as good as reading

~— N N

NN : » Sentence W I 13fb fAfAcR T4y P @RI O A3 4K PP negative
FACO T I3 structure TGSHT FACO W - T subject + verb + not + so + adjective
+ as + ¥ subject. WM., - AWH Object & subject - auxiliary verb A3 ORK not
01 - than 7 #RACS so/ as 7 - adjective U7 Degree change 3| - 939[ as I -
subject I object 5 | 301, fRISGIE 5P BB - Reading is not as good as
writing 35|

AT : P + B = e | «ft F< 2GR BHIZAD X1 AT GTHR 2 TRET TSR XA TF I
TQd XT (O P NP AOR I | - (T, T + W = N, P + O = PO | - I AR A5
2R T&F AT T0d X (O 2 BIP I B0 AR | Brw A0/ FEO X (F Baors <= I |
T, I + W = IT, - QYT AT AR QST T9d X (0 LAE | Q3R I XA Bfaos <= | -
AP 4T T TR ZOR & 2 d9d X1 (OIR 2T BIP I P AOR | P AOR TGS X1
@ JHIB XTI A |

100) What is the adjective of 'purify'?

1) Purity
2) Pureful



v 3) Pure
4) Purifying

AT : » Purify (verb transitive) - <R[ 31 , 1@ P11 - 93 adjective form x5z -
Pure - QIiRfRT ; A4m3Id ; SHER | Ol WP SR T - « Purifying - verb - <1 i$= 341 ,
7ifR@ BT » Purity - noun - 2RI TRFT , Q=0T , @701 , AT ; RGO, AT |

TR IGR *f%d WK “R/PF1 fd I [ et oaRsies a3 fics fofss a3 live.hellobcs.com
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